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Find the geometric mean between two numbers.

Find the geometric mean between each pair of numbers.

1)8landd s &/ L/ a)15
b)16
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d) {5
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5 =33
Vig %15 =393 =
d)5\3
1) , b)x=6y=visz=3vi3
9 4 C)x=6,y=\/ﬁ,z=\/ﬁ
Zz DX 4 S @x=6,y=3dﬁ,z=z\/ﬁ
Y2Vo0ruy = 2(17
Z *\/if LLJ + O —2 13
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a) x=18,y=53.2,z=50.1

b) x=18,y=53.2,z=51.1

@x= 18,y =54.2,z=51.1

d) x=16,y=53.2,z=50.1

~6) =3 = 54.0

~ \Féx 54{%2,, =419

= V(59.2-6> (5420 =511

3) z a)x=4\/ﬁ,y:3\/az=2\/ﬁ

b) X = 3\/ﬁ,y: 3\/-5,z= 5V15

4
@x =10,y = 2V6,z = 2V15

d) x=4\/ﬁ,y=3\/3,z= 5V15
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4) @:4.7,31:1.8,2:13.1
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b) x=47,y=2.82z=13.1
X
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14 C) x=57,y=2.8,z=13.1

\9 “”i\ d)x=5_7,y=2.8,z=13.7
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Z =l -0 =y S8y =131

5) a)x=30,y=9\/§,z=15\/§
b) x=40y= 9\/§,z= 15V5

10 20 @x=40,y=10\/§,z=20\/§

y d)x=40,y=10\/§,z=15\/§
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a) x =24V2,y = 8V2,z =30

y b)x=zo\/5,y=8\/5,z=3o
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C) x=20V2,y =10V2,z = 30

4
@x: 24V2,y = 8V2,z = 32
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Use the Pythagorean Theorem

Find x. @
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Use the properties of 45° -45° - 90° triangles

Find x.

1) 16 a) 8v2
45 ys, i:ii\i b) 6v2
o=
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e =g d) 4v2
2) e 152x/§
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d) 12vVe
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b)17v2

X 195 2 =95
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Find trigonometric ratios using right triangles.

Find sin J, cos J, tan J, sin L, cos L, and tan L. Express each ratio as a fraction and as a
decimal to the nearest hundredth.
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TOOLS Use a calculator to find the measure of ZZ to the nearest tenth.
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